
଴ݑ ݏ݁݉ݎ݁ݐ ݏݎ݁�݉݁ݎ݌ ݏ�݋ݎݐ ݏ݁ݏ ݎܽ݌ ݁�݊�ሻ ݀é݂�ݑሺ ݁ݐ�ݑݏ ݈ܽ ݐ�݋� Ͷ ݁ܿ�ܿݎ݁�ܧ = ͳ, ଵݑ = ͳ, ଶݑ = ݁ܿ݊݁ݎݎݑéܿݎ ݁݀ ݊݋�ݐ݈ܽ݁ݎ ݈ܽ ݐ݁ ʹ− ∶ ∀݊ ∈ ℕ, ଷ+�ݑ = ͸ݑ� − ͳͳݑ�+ଵ + ͸ݑ�+ଶ 

ܯ ݁ݏ݋݌ ܱ݊ = (Ͳ ͳ ͲͲ Ͳ ͳ͸ −ͳͳ ͸) ݊ ݈݁ݎݑݐܽ݊ ݎ݁�ݐ݊݁ ݐݑ݋ݐ ݎݑ݋݌ ݐ݁  ∶  �� = (  .(ଶ+�ݑଵ+�ݑ�ݑ
,݁ݑݍ ݎ݁ݎݐ݊݋ܯ (1 ,݊ ݈݁ݑݐܽ݊ ݎ݁�ݐ݊݁ ݐݑ݋ݐ ݎݑ݋݌ ��ܯ ܽ ݊݋ = ��+ଵ. ,ܯ ݏ݁ܿ�ݎݐܽ݉ ݏ݁݀ ݊݋�ݐܿ݊݋݂ ݊݁ ��  ݁݀ ݊݋�ݏݏ݁ݎ݌�݁′݈ ݁ݎ�ݑé݀݀ ݊ܧ �଴ ݈݁݁ݎݑݐܽ݊ݎ݁�ݐ݊݁′݈ ݁݀ ݐ ݊. 
2) ܽሻ ݎ݈݁ݑ݈ܿܽܥ ሺܯ − �ሻሺܯ − ʹ�ሻሺܯ − ͵�ሻݏ�ݑ݌ ݀é݀ܯ ݁݀ ݏ݈ܾ݁�ݏݏ݋݌ ݏ݁ݎ݌݋ݎ݌ ݏݎݑ݈݁ܽݒ ݏ݈݁ ݁ݎ�ݑ. ܾሻ ܿ݋ݏݏܽ ܯ ݁݀ ݁ݎ݌݋ݎ݌ ݎݑ݁ݐܿ݁ݒ ݊ݑ ݎ݁݊݊݋ܦ�é à ܿℎܽܿݏ݈݈݁݁ ݁ݎݐ݊݁′݀ ݁݊ݑ. 
3) ܽሻ �ݐ�݋ ܲ = (ͳ ͳ ͳͳ ʹ ͵ͳ Ͷ ͻ) ܳ ݐ݁  = ( ͸ −ͷ ͳ−͸ ͺ −ʹʹ −͵ ͳ ) . .ܳܲ ݎ݈݁ݑ݈ܿܽܥ ܦ ݐ�݋� ଵ. ܾሻ−ܲ ݁ݏݎ݁ݒ݊� ݊݋ݏ ݎ݁݊݊݋݀ ݐ݁ ݈ܾ݁�ݏݎ݁ݒ݊� ݐݏ݁  ܲ ݁ݑݍ ݁ݎ�ݑé݀݀ ݊ܧ = (ͳ Ͳ ͲͲ ʹ ͲͲ Ͳ ͵) . ܲܯ ݁ݑݍ ݎ݁ݎݐ݊݋ܯ =  ? ݈ܾ݁ܽݏ�݈ܽ݊݋݃ܽ�݀ ݈݈݁݁ ݐݏ݁ ܯ ݁ܿ�ݎݐܽ݉ ܽܮ ሻܿ .ܦܲ

4) ܽሻ ݈݁ݎݑݐܽ݊ ݎ݁�ݐ݊݁ ݐݑ݋ݐ ݎݑ݋݌ ݁ݑݍ ݎ݁ݎݐ݊݋ܯ ݊, �ܯ ܽ ݊݋ = ,݁ݎ�ݑé݀݀ ݊ܧ ଵ. ܾሻ−ܲ�ܦܲ ,݊ ݈݁ݎݑݐܽ݊ ݎ݁�ݐ݊݁ ݐݑ݋ݐ ݎݑ݋݌ .�ܯ  ݁݀ ݁݊݃�݈ ݁ݎè�݉݁ݎ݌ ݈ܽ ݁݀ ݏݐ݊݁�ܿ�݂݂݁݋ܿ ݏ݈݁  .݊ ݈݁ݎݑݐܽ݊ ݎ݁�ݐ݊݁′݈ ݁݀ ݊݋�ݐܿ݊݋݂ ݊݁ �ݑ ݁݀ ݊݋�ݏݏ݁ݎ݌�݁′݈ ݏݎ݋݈ܽ ݎ݁݊݊݋ܦ
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 



 

 

 

 

 

 



 

 

 

 

 

 



 

 

 

 

 

 



 


